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(A1=>%IL, BFR)

1 1090 T-M #5:Th BT/
2 1080 E=514 INETH EE/NMER
3 1070 M-R XE&h BREINER
3 1070 0-Y #5:Th BT/
5 1050 A13 #5:Th /R
5 1050 F e #5:Th a2/
7 1040 $5209 XEh TE/MNFER
7 1040 E =501 INET EE/NMER
7 1040 NM B LT 2SR/
7 1040 5212 feHm BEEE/IMNFR
11 1030 M-H PN BB
11 1030 I-A INET FERIINER
11 1030 S-Y INVETH FZRINER
11 1030 M-N INET FZRINER
11 1030 KS R LI s/
11 1030 FE fE2Hm EINER
17 1020 KW K EFHT NN
17 1020 5115 PNt B EINER
17 1020 KM R LI E/IER
17 1020 MY R LI s/
17 1020 16 I SLEFINERR
17 1020 R EE =T FE/DER
23 1010 2-9 Hhom FBINER
23 1010 509 PN il INLNEERR
23 1010 I-M PNt BB
23 1010 5205 XEh B EINER
23 1010 E =507 INVETH EE /MR
23 1010 SH LU s/
23 1010 na sl BEERINEAR
23 1010 S-Y 5T BT/
23 1010 M-Y 5T BT/
23 1010 ZEH ¥h 5T B2/
23 1010 EENE =T FAE/DFER
34 1000 FIAYA Hhom 2K/
34 1000 YT R EITH REF/NER
34 1000 gh EHULET RPN
34 1000 505 PNt INLNERRR
34 1000 5210 PNt BN ER
34 1000 K-A INETH FTRINER
34 1000 NN LU s/
34 1000 ye RFH BEER/INERR
34 1000 BIH 48 5 Tmh TEIE/INVER
34 1000 —JI|123E BHT BRFT /NS
44 990 216 Hhoh ER/INER
44 990 1-7 hiomh FFINER
44 990 1-14 bhomh FFINER
44 990 2-11 hiomh FFINER
44 990 3-11 hiomh FFINER
44 990 3-18 hiomh FFINER
44 990 b L% hiomh = RN
44 990 TK K EFHT RN
44 990 S5121 NSl T /N
44 990 S5204 NSl T /N
44 990 S5213 NSl T /N
44 990 MR INVETH EEBUNFERR




Eor il (m) (o BB

44 990 M.M INVET NN
44 990 2E +1 #5:Th TEIE/NERR
44 990 29 #5:Th SR
44 990 2R HiE HEh HEFE/NER
60 980 103 hioth ElR/INFER
60 980 1-4 hioth £FINER
60 980 3-9 hioth £FINER
60 980 7 K FHT FEE/NER
60 980 M.M R EI T KEF/INER
60 980 YM R EITH KEF/INER
60 980 5112 PN F#REINER
60 980 UR INET AR
60 980 FO INET =EUNER
60 980 E =508 INET EE/NMER
60 980 H-Y INETH EERNER
60 980 in il BEER/NEAR
60 980 BX Y adit] FIIR/NER
60 980 S-F BT 5 TR/
60 980 =8 EE 5T TEIE/INVER
60 980 19 I SN
60 980 44 BT I FINVER
77 970 206 Hhoh EIR/INER
77 970 2-2 Hhoh IR
77 970 13 7K FFHT LE/NER
77 970 n.a EEHUET AN
77 970 I-R PNt BB
77 970 5212 PN B EINER
77 970 AR INETH EBUNER
77 970 KK R LI E/IER
77 970 BT ] RKE/NER
77 970 INFR RFH RKE/NVER
77 970 WA B 5T B2/
77 970 40 5T SLEFINERR
77 970 Y.0 E@Hm FRAE RN
77 970 Kru EARE AT AT e
77 970 NY A AT AT RN
92 960 N. M Hhoh FHINER
92 960 3-1 Hhiot 2R
92 960 Yz 7K FFHT EHLEE/NER
92 960 KT FEHI T RKAHNFR
92 960 5203 FEHI T EE/NER
92 960 5227 FE T EE/NER
92 960 i.m EEHUET AENERR
92 960 S5119 N it T /IR
92 960 S5219 N it T /IR
92 960 RY PNt B RANER
92 960 A-M PN il B RREINER
92 960 TW INETH AL EINER
92 960 HA INETH AL EINER
92 960 H.Y BELlLTH E /R
92 960 kt b Cadit] FEERINEAR
92 960 H#E it RE/NER
92 960 Y-A 5 Tmh 5 TR /NERR
92 960 M-K 5 Tmh T HR /PR
92 960 ERK & 5 TImh T2/ NER
92 960 g 48 5T EiE/ R
92 960 21 5T SLERINERR
92 960 AINEE =T FE/NDER
92 960 H.Y BHT RRAE R /NS
92 960 Y.W Pt RRAE R /N
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92 960 5117 E2Hm HERBINER
117 950 1-3 Hhot £FINER
117 950 1-12 Hhot £FINER
117 950 3-5 Hhot £
117 950 12 K FHT EEHNER
117 950 F= K FHT SRR
117 950 N-H NS dit] BRENER
117 950 Y-A NS dit] BRENER
117 950 M.Sz INETH NENINEE S
117 950 EE512 INET EE/NMER
117 950 N-S INETH FERIINER
117 950 AR ZBx sl BEHEVNFER
117 950 S-H #5:Th BT/
117 950 H-A 5 Th BT/
117 950 M-K 5 Th BT/
117 950 ZH EfE B5iTh TEIE/ AR
117 950 13 I SR
117 950 i EE = HT FE/DER
117 950 HER 2% HEH HER/INER
117 950 h¥ H¥ HEH HER/INER
117 950 AF wBHF FRAE R /INERR
117 950 NA [Ear24:0] FE/INER
138 940 101 Hhot ElR/INFER
138 940 115 Hhot ER/INER
138 940 220 Hhoh EIR/INER
138 940 N.M XKEF NN /N
138 940 Y.N iR AT REFF/NER
138 940 N.H iR AIH REFF/NER
138 940 K.S R EI T KH/NFR
138 940 KH 40t LN
138 940 5116 #RAITh ES/MNER
138 940 5306 FEHI T EE /2R
138 940 LM 5 Hif AT R /NER
138 940 Ku.A 5 Hif AT R /NER
138 940 i.h EEHUET AENERR
138 940 S5127 PNt T /IR
138 940 $5220 PNt T /IR
138 940 YY PNt B RANER
138 940 5219 PNt B EINER
138 940 KN INVETH =BV
138 940 M.I INETH TII/NER
138 940 YM LU FF /N
138 940 =%603 LU e
138 940 yo sl BEERINEAR
138 940 M-M 5T BT/
138 940 503 E@Hm FKIb DR
138 940 KS BHT FKAINER
138 940 5211 Pt BRE/INER
138 940 1ia Edl SRR RNER
138 940 R FIR %5 SR AT =E/NER
166 930 HLVEE Hho 2 KD
166 930 =& Hhiot 2 KD
166 930 K.N 7K FHT NN
166 930 TH 7K FHT NN
166 930 H.H FE LT R E /DR
166 930 5234 FRI T EE/ER
166 930 $5203 NSt T /N
166 930 c-Y NSt B REIINER
166 930 5201 NSt B HEINER
166 930 5222 NSt B HEINER
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166 930 K-M INETH FRINER
166 930 HM B LT 2SR/
166 930 SH B LT 2R/
166 930 fm WA BEER /N AR
166 930 tr WA BEER/INERR
166 930 25 #5:Th SMFFINER
166 930 33 #5:Th SN
166 930 HY eHm BRAE R /N
166 930 510 eHm BRI
166 930 521 ER XEANER
166 930 A EE S SR ET =FE/INFR
187 925 £k B RFH BEHEVNFER
187 925 A #FK RFH BEHEVNFER
187 925 hh B sl BEHEVNFER
187 925 Mg & RFH BN
191 922 HY B LT ﬁk%ﬁﬁll\
191 922 S.M 5 SR ET REJI/NEE AR
193 920 2-18 Hhom RN
193 920 1 7K FFHT J:,L\tt/J\E‘#'s*z
193 920 4 K FHT LEEHNER
193 920 5 K FHT LE/NER
193 920 Yy h K FHT SR /R
193 920 KK #RAITh /N
193 920 S.Y R EI T /N
193 920 F.K EHULET &2 FNERR
193 920 501 PNt INLNERRR
193 920 $5201 PN TE/NFR
193 920 RN PN il B RANER
193 920 5101 PN B EINER
193 920 O£ HEG507 INET A% H/NER
193 920 E=509 INVETH EE=E/NER
193 920 50122 LU R TR/ N AR
193 920 50130 LU A ES PR /N
193 920 IM LU s/
193 920 MM LU s/
193 920 ft sl BEER /AR
193 920 ay sl BEER/INVEAR
193 920 if RFH BEERINEAR
193 920 ys sl BEERINEAR
193 920 kw sl BEERINEAR
193 920 B RFH KAINER
193 920 '5‘5 RHFTH EIIR/INER
193 920 B/ RFH EIIFR/INEKR
193 920 733 sl EIIFR/INEKR
193 920 K-F 5T BT/
193 920 K-Y 5T BT/
193 920 Xtz = 5 Tmh EiE/ N
193 920 Bk i 5 TImh BIZ/NEE
193 920 =R fBE 5 TImh BIZ /N2
193 920 26 5 Tmh SLERINERR
193 920 FEIK vk HET HER/IVER
193 920 b EE HET HER/INVER
193 920 ZH & HET HER/INVER
193 920 M.S =Pt RRAE R /N
193 920 5119 BHM REE/INER
193 920 B 2@Hm BINER
193 920 22 m.w e FIEPR/NER
193 920 )il fReE %5 SR T =E/IER




